N of associated (recoToSim) looper tracks vs normalized X

track x?

berset

tracks vs normalized x? |

recoToSim)

[{

9 2 4 6 8 10 12 14 16 18 20

syoen areandnp

oney

0.95f = = = xm e

[N o associated

ormalized x? |

vs n

[N of reco track

syoen

syoen

32
N <
00 X
— O
8
© S
—
<
—
o
—
o
—
oo
©
<
o~
2
S
Syoel) e}
02
N <
00 X
— O
IS
© =
—
<
~
o
—
o
—
o
-{o
<
B oV
[
PPR T W
e o
=t S
SREHERD SREHERD oney
©
o c
N |5
o =
128 | 9
g
18- -
s =
— o
a
N
—
o
—
B o)
-{o "
@
2
i *
g
BN =
i ]
L T T -
B3 = -
=} b 5
— z




	Contents
	Page 1


